
                      

Installation Guide 6887

     
Phone: 1.800.328.1752 / Website: www.tractorseats.com

                                                                     
     Technical Support

Instructional Seat installation  for John Deere 9000, Eff. sn 040210
9020, 9030 Series Wheel Tractors

Additional installation information for 6119 adapter plate

NOTE: Instructional Seat cannot be used with Field Office  it will 
need to be removed from tractor to install the 6887 Instructional 
Seat. Disconnect the battery cable and remove the electrical outlet 
by the field office if equipped.

1. Read installation guide information included in 
    Instructional Seat Kit 6887. 

2. Adjust seat all the way back and pull the floor mat back  
   from behind LH upholstery panel. Remove the five screws 
   attatching the panel to the cab. Keep screws for reuse.
   Remove storage drawer and rear tray.
   Remove LH upholstery panel to expose support.

Note: Use caution removing upholstery from under rear 
          molding to avoid damage to pan

 3. Install adapter bracket 6119 by lining up 3 holes shown in 
     picture 1 to holes marked in picture 2 to fender support bracket.
     Attach bracket using 3 self-tapping M6 x 20 self-tapping screws  
     provided in bolt kit. (Caution torq. 44 ft-lb.)
    

PICTURE 1

PICTURE 2



1. If reusing cup holder style fender panel follow instructions
    provided in 6887. If replacing LH fender panel install now.
    A. Reinstall upholstery panel and front trim molding with
        screws removed in step 2.

    NOTE: Make sure lower upholstery panel is inside floor
                retainer.
 
    B. Install RH seat belt Latch at a 1:00 o'clock position using 
        M12 x 25 mm cap screw and 2.5mm flat washer.

    C. Install LH seat belt Strap in position shown with
        M12 X 25 mm cap screw and 2.5 mm flat washer.

  Installing Instructional Seat

1. Remove the lower seat cushion from seat assembly by 
    removing front two M8 x20 mm screws and washers (save    
    to reuse). Slide seat forward and lift to remove.

2. Remove steel tab of seat bottom shown with dotted line      
    in picture 3 to allow clearance in position .

3. Install seat bracket to adapter plate with four M6 x 12 mm 
    bolts. 

4. Reinstall lower cushion by inserting rear screw into bracket 
    slot. Push to rear and reinstall two M8 x 20 mm bolts and 
    washers removed in previously.

Check all bolts and panels to make sure they fit correctly. 
Reconnect battery to complete installation.

Installing Fender Panel:

PICTURE 3


